JUFL

EEBRFEYYH—ERB N KL

Hokushinetsu
KZ—5 (1451 —4) 1485 HANo. 24D1 143 215 WU/ N—2 wafrmAEs LR A
#8 2024 % 10A 20 B (A) 10:00 ¥v947 X = SR 125 CC R EE(ME)
EvF AILZ 7N ] Bl <vFaATyiaF— K% 28
5 MO R4 ks fIEp Eth  FIT2 FHE PMAE  F4E Al $hath
(R—Ls) (FoxA)
2 @i 0
HREXEKRE 5 FiRXKE
BbE 21 - 24 3 #F 1 Kick off bH 8 — 8 0
5
i . = Ya—hH BT Az . 5 a—hEk EEf] | B
gl BEFE o BT | R || mH/ES gl EFE |n Bk | Bk Jeru| s |
R 0 0 ox[e i BT 0 0 | [90
oF|3 | Rk =3 0 0 sPF|3 | B RX 0 0 5| 90
DF|4 | kY BE 0 0 sl | BER 1 0 11 90
bFI5 | & R&E 1| 1 0 sl =% #8X 0 0 11 90
DFl2s | B MER 0 0 sloFle | BIE &4 0 0 »]1 90
90| |8 BER FHE |1| o 1 a6 #® FEzn 0 0 65 || 65
89| wr|o E&E KZEd|1| 3 1 89 w7 EH HF 0 1 s 20
90| vwr|s HIR 1HR 1 0 sl BAR LF 0 0 NN
oof |7 BIE FE 0 3 sl KR R 0 1 11 90
371 w2 | BfR BXR [ 1 37 4w EEF HE | 0 1 82 4| 82
e $TE BM- 0 0 70 4> BE A 0 0 65 || 65
ok|iz HE # = gl | AE B * =[] o
oF|2 | [EE EF = glrl4a ER KF0 = =l o
MF|7 B m 0 0 P z|oF|2t INE BZ2XK e = 0
wrlio  ER IEh 0 9 glwls kIH E “ gl o
mr(1e B YEE g IR B 0 6 =|| 28
wrl1e EH [&EH 1 =7 zlwrlo £&H A = =[] o
wrl2s | 3RF KFD o gwrle IR EA 0 o] 11
i = A oTE| 1 =04 z=|Fw|20 EEH X 0 AP =|| 28
rwler| HER FIE oz S 0
E&5-Ri5 o g |EE | oz crlar e gos [BE EE Z&-Ri5
e Al S8 et ast|ane gt 2 EEee— $TE
5 6 7 13 |oa—tu 13 %
% 13 4 ck |41 3 %
) 7 1 8 | ck 10 )
o) 4 3 7 |EEFKl 12| 4 8 o)
) 10 1 |Rsgrk] 2 | o 2 )
% 0 2 2 |#oval 1 |1 o %
) 0 o0 0 PK Jo]o o )

I ARBE BEF—LOF TV AR EHERTLTNS,
ZEEH CLRAR—YMITA C2577L— C3EHE C4BYERLMDER C5:BETA COERTE C7 |HFAIA CSEHMH
BIHEA SUELFELRTL— S2ERLETA SIDIEME S41§ 5%“[@&(%) S5:45 M RMALE (th) S6:RE CS:Ef2E

B[ F—4% [NBEHEN 7R N 7URN 237 | BEARB 0IL—Rh50BH. EFENo. TL—RE]
9 4 %ﬁ;‘%j&‘%j{# 5 %% om0 zexz=s 17 AE ¥ 1 — 0 [#ck 17 T w21 9 H =21 5 HS
33 4| HBEE KR |21 #a ux|24 wE B 2 — 0 |=x1 24 H =21 21 HS
63 4| BIRKZE |13 @ wm|12mswm 11 kR B 2 — 1 (&1 11 — £1 12 T #2 13 HS
75 4| TBEELEKRP|Q ==xes|7 BE % 8§ wh+a| 3 — 1[H2 8 1 £1 7 — =21 9 %S
0+1 4y HBEEKE|11 w10 B Eth 4 — 1 |#=1 10 — =1 11 =gs
sots o [FTIBEEE K| 8 mx 78|11 s 15 @R o) 5 — 1 [H1 15 T s 11 ] =m0 8 %S
5 —
5 —
5 —
5 —
5 —
N —
~KFYTI = IS F—DNRR 1 BEERO/ISR HATAUT DR S¥a—k  HSATAUY P a—k  VSHRL—ia—h

|t—LF—L@sinnE] LR KA |75 5—Lmeim s g EK |
% AL 10:00 ¥ TEZ 10:48 ATHEPT 0:48 #%¥BAHFHE 11:04 #TE 11:52 &FPT 048 ket 965




